Inverse Operations

Fluency & Precision

5

Lesson 8—Inverse Operations

NC Objective:

Add and subtract whole numbers with
more than 4 digits, including using
formal written methods. Use rounding to
check answers to calculations and
determine, in the context of a problem,

levels of accuracy

Resources needed:
Differentiated Worksheets
Teaching Slides

Vocabulary:
Inverse operations, accurate, accuracy,
Add and subtract numbers

nnot.

Children will use their knowledge of addition and subtraction to check their working out to ensure
accuracy. They use the commutative law to see that addition can be done in any order but subtraction ca

Key Questions:
How can you tell if your answer is sensible?
What is the inverse of addition?

What is the inverse of subtraction?

metres.
e thar Tia
oIS 1 9,640 metres.
y did Zoch seam?

rking Within

4,607 = 27,478 - 32687

14,286 + 9,357 = 23,541

9,357 + 14,874 - 23,547
9,357 + 14,186 = 28,547
27,982 - 4,705 = 324687

27,982 - £,505 - 32,687 ’

wien calculating 51,579 - 35,857, When calculatng 47,978 - 29,383
which ansver guves the Cormespenting | which answer guies the <orrect and corresponding
addror ‘cddtion queston?

722 + 35,851

29,383 + 18575 - 47.978
79383 + 18,595 = 47 378

35857 4 15,702 = 51579 ’

35857 + 15,820 - 51,579 18,605 + 29,383 = 47,978

% % % Greater Depth

ek, calcalating 86,084
nich ansver

57,375 + 36,696 - 10,003 - 84,068
110,734 + 10,003 - 36,669 - 84,068

57,402 - 10,002 + 36,660 = 84,068

22,571 + 54,885 - 12,34 - 65,107
56,885 - 12,340 - 2,127 = £5,107

54,885 - 12,430 - 22,661 = 65,107

Vine calcalating 32,567 + 11,668 - 22,989,
hich cnswer respen

21,266 +22,989 - 11,686 - 32567
21,237 +22,998 - 11,668 = 32567

When calculating 63,900 - 45,008 + 12070,
fich ansier rec: end earresgonding

30890 - 12070 + 45,080 - £3,900
30962 - 12070 + 45,008 = 63,900

J

21,266 - 11,668 - 22,989 = 32567 30,800 - 12700 + 45,800 = 63,3900

Children on this sheet will choose
the correct inverse to the given
calculation and solve one-step
word problems.

Reasoning

i Dpeesbins

Ry & Poblem ey 5

Zach, Roste, Malachi and Tia collect marbles.

e,,,] Lhave 2354 mables. |

Zach

T have dauble the
amount of marbles Zach has. =

Roste

Complete the pyramid using adition and
subtraction.

Thave half the amount. |
o of marbles Zach has.

Malachi

In total they have 10,384 marbles.
How many does Tia have

Children on this sheet will choose
the correct inverse to the given
calculation and solve two-step
word problems.

& Problem Solving

Children on this sheet will choose
the correct inverse to the given
calculations and solve multi-step
word problems.

Children continue working on inverse operations.

They will complete the pyramid and solve a reasoning
question about unknown numbers using inverse

operatlons.
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Inverse Operations 71\*7 Fluency & Precision 5

When calculating 12,455 — 8,540, When calculating 23,560 — 9,845,
which answer gives the correct and which answer gives the correct and
corresponding addition question? corresponding addition question?
4 8,540 + 3,815 =12,255 h 4 13,715 + 9,845 = 23,560 h
8,540 + 3,195 = 12,455 9,845 + 13,825 = 23,560
3,915 + 8,540 = 12,455 9,845 + 13,625 = 23,560
J \§

. When calculating 16,540 — 7,485, When calculating 37,985 — 17,450,
which answer gives the correct and which answer gives the correct and
corresponding addition question? corresponding addition question?
4 7,485 + 9,155 = 16,540 A 4 17,450 + 19,535 = 37,985 h
7,485 + 9,055 = 16,540 20,635 + 17,450 = 37,985
9,205 + 7,485 = 16,540 17,450 + 20,535 = 37,985

J \
I'm thinking of a number. I'm thinking of a number.
After I add 3,250 After I subtract 6,580
my number is 7,360. my number is 5,555,
What was my original number? What was my original number?

Tia and Zach were training in the pool.
Tia swam 3,550 metres.
Zach swam more than Tia.

Rosie and Malachi are playing a computer game.
: Rosie’s high score is 7,550. i

Malachi’s high score is greater than Rosie’s. o
The total of both their scores is 19,640. The total of both swims is 9,640 metres.

What is Malachi’s high score? How many did Zach swim?
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Inverse Operations 71\*7 An swers Fluency & Precision 5

When calculating 12,455 — 8,540, When calculating 23,560 — 9,845,
which answer gives the correct and which answer gives the correct and
corresponding addition question? corresponding addition question?

4 8,540 + 3,815 =12,255 h 13,715 + 9,845 = 23,560
8,540 + 3,195 = 12,455 9,845 + 13,825 = 23,560
3,915 + 8,540 = 12,455 9,845 + 13,625 = 23,560
(ot sto- 2458 N y
. When calculating 16,540 — 7,485, When calculating 37,985 — 17,450,
which answer gives the correct and which answer gives the correct and
corresponding addition question? corresponding addition question?
4 7,485 + 9,155 = 16,540 A 4 17,450 + 19,535 = 37,985 h

7,485 + 9,055 = 16,540 20,635 + 17,450 = 37,985
9205+7485-16540 17,450 + 20,535 = 37,985

I'm thinking of a number. I'm thinking of a number.
After I add 3,250 After I subtract 6,580
my number is 7,860. my number is 5,555.
What was my original number? What was my original number?

Tia and Zach were training in the pool.
Tia swam 3,550 metres.
Zach swam more than Tia.

Rosie and Malachi are playing a computer game.
‘ Rosie’s high score is 7,550.

Malachi’s high score is greater than Rosie’s. R
The total of both their scores is 19,640. The total of both swims is 9,640 metres.

What is Malachi’s high score? How many did Zach swim?

[ 12,090 }

—
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Inverse Operations 71?* Fluency & Precision 5

When calculating 23,541 - 9,357, When calculating 32,687 — 27,982,
which answer gives the correct and which answer gives the correct and
corresponding addition question? corresponding addition question?
4 9,357 + 14,814 = 23,541 h 4 27,982 + 4,505 = 32,687 h
9,357 + 14,184 = 23,541 4,607 + 27,978 = 32,687
14,284 + 9,357 = 23,541 27,982 + 4,705 = 32,687
J \§

. When calculating 51,579 — 35,857, When calculating 47,978 — 29,383,
which answer gives the correct and which answer gives the correct and
corresponding addition question? corresponding addition question?
4 15,722 + 35,857 = 51,579 A 4 29,383 + 18,575 = 47,978 A
35,857 + 15,702 = 51,579 29,383 + 18,595 = 47,978
35,857 + 15,820 = 51,579 18,605 + 29,383 = 47,978
J \

I'm thinking of a number. I'm thinking of a number.
After I add 5,357 and subtract After I add 7,698 and subtract
924 my number is 9,845. 2,587 my number is 9,119.
What was my original number? What was my original number?

Tia and Zach were training in the pool.
Tia swam 5,672 metres.
Zach swam more than Tia.

Rosie and Malachi are playing a computer game.
: Rosie’s high score is 18,657.

Malachi’s high score is greater than Rosie’s. o
The total of both their scores is 43,574. The total of both swims is 12,847 metres.

What is Malachi’s high score? How many did Zach swim?
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Inverse Operations 71?* An swers Fluency & Precision 5

When calculating 23,541 - 9,357, When calculating 32,687 — 27,982,
which answer gives the correct and which answer gives the correct and
corresponding addition question? corresponding addition question?
4 9,357 + 14,814 = 23,541 h 4 27,982 + 4,505 = 32,687 h

9,357 + 14,184 = 23,541 4,607 + 27,978 = 32,687
14,284 + 9,357 = 23,541 ) 27,982 + 4,705 = 32,687

..................................................................................................................................................................................................................................................................

When calculating 51,579 — 35,857, When calculating 47,978 — 29,383,
which answer gives the correct and which answer gives the correct and
corresponding addition question? corresponding addition question?

(57224 35857 =557 [ 29383+18575-47978 )
35,857 +15,702 = 51,579 29,383 +18,595 = 47,978

35,857 + 15,820 = 51,579 18,605 + 29,383 = 47,978
J \§
I'm thinking of a number. I'm thinking of a number.
After I add 5,357 and subtract After I add 7,698 and subtract
924 my number is 9,845. 2,587 my number is 9,119.
What was my original number? What was my original number?

e
~——]

Rosie and Malachi are playing a computer game. Tia and Zach were training in the pool.

Rosie’s high score is 18,657. Tia swam 5,672 metres.

R : - Zach swam more than Tia
Malachi’s high score is greater than Rosie’s. o '
The total of both their scores is 43,574. The total of both swims is 12,847 metres.

What is Malachi’s high score? How many did Zach swim?

[ 24917 }

masterthecurriculum.co.uk




Inverse Operations

Fluency & Precision

When calculating 65,107 + 12,349 — 54,885,

. corresponding addition and subtraction question? :

which answer gives the correct and

-

22,571 + 54,885 — 12,349 = 65,107
54,885 + 12,349 — 2,127 = 65,107

54,885 —-12,439 + 22,661 = 65,107

When calculating 84,068 — 36,669 + 10,003,

which answer gives the correct and

corresponding addition and subtraction question?

-

57,375 + 36,696 — 10,003 = 84,068
110,734 + 10,003 — 36,669 = 84,068

57,402 - 10,003 + 36,669 = 84,068

..................................................................................................................................................................................................................................................................

When calculating 32,567 + 11,668 — 22,989,

. corresponding addition and subtraction question?

which answer gives the correct and

-

21,264 + 22,989 — 11,686 = 32,567
21,237 + 22,998 — 11,668 = 32,567

21,246 — 11,668 + 22,989 = 32,567

...........................................................................................................................
..................................................................................................................................................................................................................................................................

which answer gives the correct and

When calculating 63,900 — 45,008 + 12,070,

corresponding addition and subtraction question?

-

30,890 — 12,070 + 45,080 = 63,900
30,962 - 12,070 + 45,008 = 63,900

30,800 - 12,700 + 45,800 = 63,900

I'm thinking of a number.

After I add 6,102, subtract 1,248 and then again add 33,456

my number is 54,800.

What was my original number?

T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T P T P P PP PP P TP PP PP PP PP PPPRPPPPTPPTY

I'm thinking of a number.
After I subtract 15,809, add 7,807 and then again subtract 12,348
my number is 46,090.

What was my original number?

...................................................................................................................................................................................................................................................................
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When calculating 65,107 + 12,349 — 54,885, When calculating 84,068 — 36,669 + 10,003,

: which answer gives the correct and which answer gives the correct and :
: corresponding addition and subtraction question? i1 corresponding addition and subtraction question?

(22571 + 54885 12,349 = 65107 ) [ 57375+ 366910003 -84,068

54,885 + 12,349 — 2,127 = 65,107 110,734 + 10,003 — 36,669 = 84,068

54,885 — 12,439 + 22,661 = 65,107 57,402 — 10,003 + 36,669 = 84,068
J \_ g,

..................................................................................................................................................................................................................................................................

When calculating 32,567 + 11,668 — 22,989, When calculating 63,900 — 45,008 + 12,070,

: which answer gives the correct and which answer gives the correct and :
. corresponding addition and subtraction question? :: corresponding addition and subtraction question?

4 21,264 + 22,989 — 11,686 = 32,567 A 4 30,890 — 12,070 + 45,080 = 63,900 A

21,237 + 22,998 — 11,668 = 32,567 30,962 - 12,070 + 45,008 = 63,900
N 21,246 — 11,668 + 22,989 = 32,567 ”) 30,800 - 12,700 + 45,800 = 63,900

T T T T T P TP T PP T PP PP e NN NN NN NN NN A NN RN NS EA NS RN NN RERR R R R RR R R R ny
..................................................................................................................................................................................................................................................................

I'm thinking of a number.
After I add 6,102, subtract 1,248 and then again add 33,456
my number is 54,800.

What was my original number?

[ 16,490 }

T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T P T P P PP PP P TP PP PP PP PP PPPRPPPPTPPTY

I'm thinking of a number.
After I subtract 15,809, add 7,807 and then again subtract 12,348
my number is 46,090.

What was my original number?

...................................................................................................................................................................................................................................................................
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Reasoning & Problem Solving

4 N

Complete the pyramid using addition and
subtraction.

/Zach, Rosie, Malachi and Tia collect marblesN

I have 2,354 marbles.

Zach

I have double the
amount of marbles Zach has.

|

Rosie

I have half the amount
of marbles Zach has.

Malachi

In total they have 10,384 marbles.
How many does Tia have?

N J
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Inverse Operations

5

Reasoning & Problem Solving

~

Complete the pyramid using addition and
subtraction.

/Zach, Rosie, Malachi and Tia collect marblesx

I have 2,354 marbles.

Zach

I have double the
amount of marbles Zach has.

|

Rosie

I have half the amount
of marbles Zach has.

Malachi

In total they have 10,384 marbles.

How many does Tia have?

\ J
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Inverse Operations A nswers Reasoning & Problem Solving 5

%Complete the pyramid using addition and\ /Zach, Rosie, Malachi and Tia collect marblesx

subtraction.
I have 2,354 marbles. ]
78,368 Zach
41708 | 36,660 [ I have double the
20587 | 21121 | 15,539 amount of marbles Zach has.
Rosie
8,582 | 12,005 9,116 6,423
3124 | 5458 | 6,547 | 2569 | 3854 Thave half the amount
of marbles Zach has.
From left to right: Malachi
Bottom row: 5,458 and 2,569.
Second row: 12,005 and 9,116. In total they have 10,384 marbles.

Third row: 20,587 and 15,539. How many does Tia have?

Fourth row: 36,660.
K Tia has 2,145 marbles. /
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Inverse Operations Answe rs Reasoning & Problem Solving 5
/Complete the pyramid using addition and\ /Zach, Rosie, Malachi and Tia collect marblA
subtraction.
I have 2,354 marbles. ]
78,368 Zach
41,708 | 36,660 [ I have double the
20587 | 21121 | 15539 amount of marbles Zach has.
. Rosie
8582 | 12,005 | 9116 6,423
3124 | 5458 | 6547 | 2569 | 3854 Hlien2 lneljdi e
’ ' ' : ’ of marbles Zach has.
From left to right: Malachi
Bottom row: 5,458 and 2,569.
Second row: 12,005 and 9,116. In total they have 10,384 marbles.
Third row: 20,587 and 15,539. How many does Tia have?

Fourth row: 36,660.
\ Tia has 2,145 marbles. /
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